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1. ................... is the most abundant

mineral in the Earth’s crust.

(A) CaO

(B) Al2O3

(C) SiO2

(D) MgO

2. The course of a river perpendicular

to the regional slope is called ...........

stream.

(A) Consequent

(B) Subsequent

(C) Obsequent

(D) Resequent

1.
------------------------- Hkwdopkr foiqyrsus vk<ˇ.kkjs

[kfut vkgs-

(A) CaO

(B) Al2O3

(C) SiO2

(D) MgO

2. izknsf'kd mrkjkl yac fn'ksus vl.kkÚ;k unhekxkZl

------------------ izokg Eg.krkr-

(A) i`"Blekarj

(B) i`"Byac

(C) i`"Blekarj fojks/kh

(D) mii`"Blekarj

GEOGRAPHY
Paper II

Hkwxksy
iz'uif=dk II

Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This paper contains Fifty (50) multiple choice questions, each question

carrying Two (2) marks. Attempt All questions.

lwpuk % ;k iz'uif=dsr ,dw.k iÈkkl (50) cgqi;kZ;h iz'u fnysys vkgsr- izR;sd iz'ukyk nksu (2)

xq.k vkgsr- loZ iz'ukaph mŸkjs fygk-
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3. Which one of the following types of

collision between two plates is

responsible for folding of rock mass

in Himalaya ?

(A) Continent and Continent

(B) Ocean and Ocean

(C) Ocean and Continent

(D) Shields and Cratons

4. The concentration of wave energy

on headlands is due to wave .........

(A) Refraction

(B) Reflection

(C) Absorption

(D) Diffusion

5. Anthracite is a type of ............

(A) Mudstone

(B) Limestone

(C) Coal

(D) Sandstone

3. iq<s fnysY;k nksu Hkwrcdkrhy VDdj gks.;kP;k

izdkjki Sdh dqByk izdkj fgeky;krhy

[kMdkaP;k oyhdj.kkl tckcnkj vkgs \

(A) [kaM vkf.k [kaM

(B) egklkxj vkf.k egklkxj

(C) egklkxj vkf.k [kaM

(D) <ky{ks=s vkf.k ÿsVkWUl

4. Hkwf'kjkatoˇ gks.kkjs ykVkaP;k mtsZps dsaÊhdj.k

--------------- eqˇs gksrs-

(A) ijhorZu

(B) ijkorZu

(C) 'kks"k.k

(D) fodhj.k

5. v°FkzlkbV gk ----------------------- pk izdkj

vkgs-

(A) iadk'e

(B) pqu[kMd

(C) dksˇlk

(D) okyqdk'e

http://www.studentbounty.com/
http://studentbounty.com/


3 [P.T.O.

NOV-36211/II

6. Which one of the following

electromagnetic wavelengths are the

longest ?

(A) Visible

(B) Infrared

(C) Radio waves

(D) Gamma rays

7. The vertical air flow in an

anticyclone results in ..............

(A) divergence aloft

(B) convergence aloft

(C) divergence both aloft and at the

surface

(D) convergence at the surface and

divergence aloft

6. [kkyhyiSdh dks.kR;k fo|qr&pqacdh; rjaxkph

ykach lxˇÓkr tkLr vlrs \

(A) n`";

(B) vojDr

(C) jsfMvks rjax

(D) xWek fdj.k

7. izR;korkZrhy v/kksxkeh gospk izokg ----------

eq š gksrks-

(A) gosps ojhy Fkjke/khy vilj.k

(B) gosps ojhy Fkjke/khy ,d=hdj.k

(C) gosps nksUghgh fBdk.kh ojhy Fkjke/;s o

Hkwi`"BHkkxkojhy vilj.k

(D) gosps Hkwi`"BHkkxkojhy ,d=hdj.k o

ojhy Fkjke/khy vilj.k
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8. The westerlies and trade winds are

examples of ........... winds.

(A) macroscale

(B) mesoscale

(C) microscale

(D) jet stream

9. The only truly continuous pressure

belt on the Earth is the ...............

(A) Southern hemisphere substro-

pical high

(B) Equatorial low

(C) Northern hemisphere substro-

pical high

(D) Southern hemisphere subpolar

low

8. if'peh o O;kikjh okjs gs ------------- ;kps

mnkgj.k vkgs-

(A) LFkwy izek.k

(B) e/;e izek.k

(C) lw{e izek.k

(D) tsV izokg

9. ìFohoj ------------- gk ,deso lyx nkckpk

iÍk vkgs-

(A) nf{k.k xksyk/kkZrhy mivk;fud tkLr

nckpk iÍk

(B) fo"kqoo`Ÿkkojhy deh nkckpk iÍk

(C) mŸkj xksyk/kkZrhy mivk;fud tkLr

nkckpk iÍk

(D) nf{k.k xksyk/kkZrhy mi/k`oh; deh nkckpk

iÍk
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10. Which one of the following major

climatic groups, according to

Koeppen’s climatic classification, is

not found in the southern

hemisphere ?

(A) B

(B) C

(C) A

(D) D

11. What is the time gap between two

high tides at the same location ?

(A) 12 hours

(B) 12 hours 15 minutes

(C) 12 hours 25 minutes

(D) 12 hours 30 minutes

10. dksi suP;k gokekukP;k oxh Zdj.kku qlkj

[kkyhyiSdh dks.kR;k izdkjps gokeku nf{k.k

xksyk/kkZr vk<ˇr ukgh \

(A) c

(B) d

(C) v

(D) M

11. ,dkp fBdk.kh vk<ˇ.kkÚ;k nksu Hkjrhe/;s

fdrh varj vlrs \

(A) 12 rkl

(B) 12 rkl 15 fefuVs

(C) 12 rkl 25 fefuVs

(D) 12 rkl 30 fefuVs

http://www.studentbounty.com/
http://studentbounty.com/


6

NOV-36211/II

12. Salinity of ocean water depends

upon :

(A) Temperature of the ocean

water

(B) Size of the ocean

(C) Proximity to Hot deserts

(D) Density of ocean water

13. Identify the mismatch :

(A) Podzol—Tundra

(B) Chernozem—Temperate grass-

land

(C) Latosols—Rain forest

(D) Chernozem—Taiga

14. ................. is the plant community

located on the bank of rivers.

(A) Riparian

(B) Littoral

(C) Solum

(D) Phytoplankton

12. lkxjtykph {kkjrk ;koj voyacwu vlrs %

(A) lkxjtykps rkieku

(B) egklkxjkpk vkdkj

(C) m".k okˇoaVkph lehirk

(D) lkxjtykph ?kurk

13. folaxrh vkš [kk %

(A) ikWM>kWy—VwaM™k

(B) psuksZ>se—mivk;fud xorkˇ izns'k

(C) yWVkslkWYl—o"kkZous

(D) psuksZ>se—rSxk

14.
----------------------------- gh ouLirh unhdkBkoj

vk<ˇrs-

(A) jk;isjhvu

(B) fyVksjy

(C) lksye

(D) ty'kSo
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15. The most widespread inorganic

pelagic deposit in ocean is ..............

(A) Red clay

(B) Diatoms

(C) Pteropod

(D) Globigerina

16. The first geographer to initiate

change over from the dominantly

liberal to the Marxist perspective

was :

(A) David Harvey

(B) William Bunge

(C) Yi-Fu-Tuan

(D) David M. Smith

17. Place-Work-Folk progression

methodology was developed by .........

(A) Vidal de la Blache

(B) Leibniz

(C) Dudely stamp

(D) Patric Geddes

15.
--------------- gs [kksy leqÊkr loZ= vk<ˇ.kkjs

vlsaÊh; volkn vkgsr-

(A) yky ekrh

(B) Mk;VEl

(C) VsjkikWM

(D) Xyksfctsjhuk

16. izHkkoh mnkjoknh n`f"Vdksukrwu ekDlZoknh

n`f"VdksukdMs cnykl pkyuk ns.kkjk ifgyk

HkwxksyrK dks.k vkgs \

(A) MsfoM gkosZ

(B) fofy;e caxh

(C) ;h&Qw&rqvku

(D) MsfoM ,e- fLeFk

17. ^^LFkku&dk;Z&yksd** o/kZu iºrh dks.kh

fodflr dsyh \

(A) foMky&Mh&yk Cyk"k

(B) yhCuht

(C) MMys LVkEi

(D) isV™hd xsMhl

http://www.studentbounty.com/
http://studentbounty.com/


8

NOV-36211/II

18. Who is credited for placing

historical events in geographical

setting ?

(A) Aristotle

(B) Herodotus

(C) Hipparchus

(D) Eratosthenes

19. The emphasis on the importance of

choices to human activity rather

than the limitations to choice is

known as, .................

(A) Positivism

(B) Possibilism

(C) Behaviourism

(D) Determinism

18. ,sfrgklhd ?kVuk HkkSxksfyd ik'oZHkwehe/;s

ekaM.;kps Js; ---------------------------- ;kauk

tkrs-

(A) vWfjLVkWVy

(B) fgjksMksVl

(C) fgiWfjdl

(D) bjWVksLFksuhl

19. miyC/k i;kZ;kaP;k e;kZnsis{kk ekuoh fÿ;kae/;s

i;kZ;kaP;k egRokoj fnysyk Hkj Eg.ktsp

-------------

(A) okLrookn

(B) laHkookn

(C) orZuokn

(D) fu'p;okn
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20. [kkyhyiSdh -------------- gk i;k Zoj.k

fu'p;rkoknkpk leFkZd vkgs \

(A) foY;e xWjhlu

(B) ,ysu lsaiy

(C) b;ku cVZu

(D) foY;e ekWfjl MsOghl

21. egkjk"V™krhy 'kgjs Js.kh vkdkj fu;ekar clrkr

vls x`ghr /kjY;kl ukxiwjph yksdla[;k

--------------------- vlsy-

(A) 90 yk[k

(B) 60 yk[k

(C) 40 yk[k

(D) 30 yk[k

20. Which one of the following is an

advocate of environmental

determinism ?

(A) William Garrison

(B) Ellen Semple

(C) Ian Burton

(D) William Moris Davis

21. Assuming towns of Maharashtra

follow the rank size rule, the

population of Nagpur should

be :

(A) 90 lakhs

(B) 60 lakhs

(C) 40 lakhs

(D) 30 lakhs
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22. Hkkjrkrhy dks.kR;k jkT;kar lokZf/kd izHkqRo

vkgs \

(A) egkjk"V™

(B) if'pe caxky

(C) rkfeˇukMw

(D) xqtjkr

23. iatkc e/khy [ksMh ---------------- vkgsr-

(A) dsaÊh; ,dla?k

(B) <hlkˇ dsaÊhHkwr

(C) fo[kfjr

(D) js[kh;

24. ekxhy 50 o"kkZr lokZr deh yksdla[;kok<hpk

nj ---------------- vk< w̌u vkyk-

(A) m- vesfjdk

(B) ;wjksi

(C) vf›dk

(D) vks'kkfu;k

22. Which State of India has the highest

primacy ?

(A) Maharashtra

(B) West Bengal

(C) Tamil Nadu

(D) Gujarat

23. Villages of Punjab appear ...........

(A) Nucleated compact

(B) Nucleated loose

(C) Dispersed

(D) Linear

24. ................... has shown the lowest

population growth rate during the

last 50 years.

(A) N. America

(B) Europe

(C) Africa

(D) Oceania
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25. ................. is the most populous

country in Western Europe.

(A) Germany

(B) U.K.

(C) Netherlands

(D) France

26. In developed economies .............

sector employees largest proportion

of workers.

(A) Agricultural

(B) Industrial

(C) Service

(D) Commerce

27. Which one of the following is not a

natural resource ?

(A) Sandalwood trees in a forest

(B) Vineyard

(C) Fish in a river

(D) Pearls in the sea shells

25.
------------------- gk ns'k if'pe ;wjksie/;s lokZr

tkLr yksdla[;k vlysyk vkgs-

(A) teZuh

(B) ;w-ds-

(C) usnjysaM

(D) ›kal

26. fodlhr vFkZO;oLFkkae/;s ------------ {ks= lokZr

tkLr izek.kkr jkstxkj iqjors-

(A) œ"kh

(B) vkS|ksfxd

(C) lsok

(D) okf.kT;

27. [kkyhyiSdh dks.krk ?kVd uSlfxZd lk/ku&

laiŸkh ukgh \

(A) vj.;krys panukps o`{k

(B) Êk{kckx

(C) unhrys ekls

(D) lkxjh f'kaiY;krys eksrh
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28. ...................... is also called robber

economy.

(A) Hunting

(B) Fishing

(C) Lumbering

(D) Mining

29. Bajra is grown most abundantly

in .................

(A) Gujarat—Rajasthan

(B) Gujarat—Maharashtra

(C) Maharashtra—Karnatak

(D) Karnatak—Andhra Pradesh

30. Lines connecting equal aggregate

transport costs in Weber’s theory are

called, ..............

(A) Isotims

(B) Isohalines

(C) Isodapanes

(D) Isohyets

28.
-------------------- ;kyk yqVhph vFkZO;oLFkk vls

Eg.krkr-

(A) f'kdkj

(B) eklsekjh

(C) ykdqM rksM

(D) [kk.k m|ksx

29.
------------------------ ;sFks cktjhps fid eksBÓk

izek.kkr ?ksrys tkrs-

(A) xqtjkr—jktLFkku

(B) xqtjkr—egkjk"V™

(C) egkjk"V™—dukZVd

(D) dukZVd—vka/kz izns'k

30. oscjP;k flºkarkr le ,dw.k O;; n'kZfo.kkÚ;k

js"kkauk -------------- Eg.krkr-

(A) leO;; js"kk

(B) le{kkj js"kk

(C) le ,dw.k O;; js"kk

(D) le itZU; js"kk
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31. Social Geography is primarily

concerned with ................

(A) Social relations, identities and

equalities

(B) Social relations, identities,

equalities varying in space

(C) Social relations and societies in

space

(D) Social equations

32. .................. is a process in which one

culture group adopts the culture of

another group.

(A) Adoption

(B) Assimilation

(C) Amalgamation

(D) Acculturation

31. lkekftd Hkwxksy izkeq[;kus -------------------- 'kh

lacaf/kr vkgs-

(A) lkekftd laca/k] vksˇ[k vkf.k

lekurk

(B) lkekftd laca/k] vkš [k vkf.k lekursps

{ks=h; vfHklj.k

(C) vfHk{ks=h; lekt vkf.k lkekftd

laca/k

(D) lkekftd lehdj.ks

32.
------------------- ;k izfÿ;sr ,d lkaLœfrd xV

nqlÚ;k xVkph laLœrh nŸkd ?ksrks-

(A) nŸkd fo/kku

(B) felˇ.k

(C) lkfeyhdj.k

(D) lkaLœfrd ifjorZu
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33. Relocation is a type of ................

(A) Diffusion

(B) Redistribution

(C) Resettlement

(D) Movement

34. Kunbis belongs to ....................

(A) Sino-Dravidian race

(B) Proto-Australoid race

(C) Scytho-Dravidian race

(D) Proto-Dravidian race

35. Jats are the .............. community.

(A) cultivating

(B) warrior

(C) trading

(D) ruling

33. iquLFkkZfudhdj.k gk -------------------- pk izdkj

gks;-

(A) izlkj.k

(B) iqufoZrj.k

(C) iquoZLrhdj.k

(D) gkypky

34. dq.kch ---------------- ;k oa'kkps vkgsr-

(A) fluks-ÊfofM;u

(B) izksVks-vkWLV™sykWbM

(C) lk;Fkks-ÊfofM;u

(D) izksVks-ÊfofM;u

35. tkV gk ----------------- lekt vkgs-

(A) 'ksrdjh

(B) ;ksºk

(C) O;kikjh

(D) jkT;drkZ
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36. Which one of the following is

not an indicator of develop-

ment ?

(A) Females among literates

(B) Total population

(C) Infant mortality rate

(D) Level of urbanisation

37. One finds increasing regional

disparities during the last ..............

years.

(A) 20

(B) 30

(C) 40

(D) 50

36. iq<hyiSdh dks.krk fodklkpk funs Z'kd

ukgh \

(A) lqf'kf{krkr fÛ;kaps izek.k

(B) ,dw.k yksdla[;k

(C) vHkZd e`R;w izek.k

(D) ukxjhdj.kkph ikrˇh

37. ok<rh izknsf'kd fo"kerk xsY;k -------------- o"kkZr

fnlwu ;srs-

(A) 20

(B) 30

(C) 40

(D) 50
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38. Old industrial areas in developed

countries are examples of ...............

(A) Dynamic regions

(B) Progressive regions

(C) Back-yard regions

(D) Depressed regions

39. PURA facilitates the development

mainly of .................

(A) small towns

(B) medium towns

(C) large towns

(D) census towns

40. There was a partial roll back of

regional development strategy

during .............. period.

(A) Post 1951

(B) Post 1966

(C) Post 1975

(D) Post 1991

38. fodflr ns'kkrhy tqus vkS|ksfxd izns'k

--------------- ph mnkgj.ks vkgsr-

(A) xrh'khy izns'k

(B) izxfr'khy izns'k

(C) ik'oZ izns'k

(D) vkfFkZd eanhpk izns'k

39. iqjk izkeq[;kus ------------------- P;k fodklkl enr

djrks-

(A) ygku 'kgjs

(B) e/;e vkdkjkph 'kgjs

(C) eksBh 'kgjs

(D) tux.kuk 'kgjs

40.
---------------- ;k dkˇkr izknsf'kd fodklkph

O;wgjpuk va'kr% ekxs ?ksryh gksrh-

(A) 1951 uarj

(B) 1966 uarj

(C) 1975 uarj

(D) 1991 uarj
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41. The Satpuda is a .................. type of

mountain.

(A) Fold

(B) Volcanic

(C) Block

(D) Residual

42. Which one of the following is

correctly matched ?

(A) Munda—Rajasthan

(B) Khond—Andhra Pradesh

(C) Toda—Jharkhand

(D) Kinnar—Madhya Pradesh

43. Identify the mismatch :

(A) Shivsagar—Koyna

(B) Gandhisagar—Chambal

(C) Nathasagar—Godavari

(D) Krishnarajsagar—Krishna

41. lkriqMk gk ------------------------- izdkjpk ioZr

vkgs-

(A) ?kMh

(B) Tokykeq[kh

(C) Bksdˇk

(D) vof'k"V

42. [kkyhyiSdh dks.krh tksMh lqlaxr vkgs \

(A) eqaMk—jktLFkku

(B) [kksaM—vka/kz izns'k

(C) rksMk—>kj[kaM

(D) fdUuj—e/; izns'k

43. folaxr tksMh vkš [kk %

(A) f'kolkxj—dks;uk

(B) xka/khlkxj—pacˇ

(C) ukFklkxj—xksnkojh

(D) œ".kjktlkxj—œ".kk
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44. Which one of the following states has

the highest percentage of its

geographical are under plateau

region (i.e. 300-1000 meters above

mean sea level) ?

(A) Maharashtra

(B) Andhra Pradesh

(C) Karnataka

(D) Madhya Pradesh

45. ........................ shares its boundary

with maximum number of

states.

(A) Madhya Pradesh

(B) Uttar Pradesh

(C) Chhattisgarh

(D) Assam

44. iq<hyiSdh dks.kR;k jkT;kr ,dw.k HkkSxksfyd

{ks=kP;k lokZf/kd izek.kkr iBkjh izns'k (300

rs 1000 eh- leqÊ likVh iklwu maph)

vkgs \

(A) egkjk"V™

(B) vka/kz izns'k

(C) dukZVd

(D) e/; izns'k

45.
------------------- ph lhek lokZf/kd jkT;ka'kh layXu

vkgs-

(A) e/; izns'k

(B) mŸkj izns'k

(C) NŸkhlxM

(D) vklke
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46. In which of the following

distributions, the values of Mean,

Median and Mode are the same ?

(A) Binomial

(B) Poisson

(C) Normal

(D) Skewed

47. ................ can be shown by flow

map.

(A) Interstate migration

(B) Villages linked to market

(C) Rail network

(D) Direction of trade

48. The lateral overlap in an aerial

photo-stereopair is normally

expected to be ..............

(A) 5 to 20%

(B) 40 to 60%

(C) 1 to 2%

(D) 90 to 95%

46. iq<hyiSdh dks.kR;k forj.kkr ljkljh]

e/;xk o cgqyd P;k fdaerh lkj[;kp

vlrkr \

(A) ck;ukWfevy

(B) ikW;lkWu

(C) lkekU;

(D) dy

47.
-------------------------- us izokgh udk'kkus nk[kfork

;srs-

(A) vkarjjkT; LFkykarj

(B) cktkjisBsl tksMysyh [ksMh

(C) jsYosps tk š

(D) O;kikjkph fn'kk

48. gokbZ Nk;kfp=kaP;k f=ferh; tksMhr lkekU;i.ks

------------------ brdh ik'oZorhZ f}#fDr visf{kr

vkgs-

(A) 5 rs 20%

(B) 40 rs 60%

(C) 1 rs 2%

(D) 90 rs 95%
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49. Satellites which orbit and cover

each area of the world at a

constant local sun time are

called ...............

(A) Earth-synchronous

(B) Sun-orbital

(C) Sun-synchronous

(D) Sun facing

50. 1° of latitude approximately covers

................. distance on the earth

surface.

(A) 101 km

(B) 121 km

(C) 111 km

(D) 151 km

49. ts mixzg i`FohHkksorh fQ:u izns'kkps ,dkp

oš h fp=.k djrkr R;kl -------------------------

Eg.krkr-

(A) i`Foh&vuqxkeh

(B) i`Foh&d{kh;

(C) lw;kZuqxkeh

(D) lw;kZfHkeq[k

50. 1 va'k v{ko`r lk/kkj.ki.ks i`Fohi`"Bkojhy

------------- varj O;kirs-

(A) 101 fdeh

(B) 121 fdeh

(C) 111 fdeh

(D) 151 fdeh

http://www.studentbounty.com/
http://studentbounty.com/


21 [P.T.O.

NOV-36211/II

ROUGH WORK

http://www.studentbounty.com/
http://studentbounty.com/


22

NOV-36211/II

ROUGH WORK

http://www.studentbounty.com/
http://studentbounty.com/


23 [P.T.O.

NOV-36211/II

ijh{kkFkh±lkBh lwpuk
1. ;k ikukojhy ojP;k dksiÚ;kr vkiyk vklu ÿekad

rlsp vki.kkl fnysY;k mŸkjif=dspk ÿekad
R;k[kkyh fygkok-

2. iz'uif=dk ÿekad OMR mŸkjif=dsoj fnysY;k
jdkU;kr fygwu R;kizek.ks dkˇk djkok-

3. ;k iz'uif=dsr iÈkkl cgqfuoM iz'u vkgsr-
4. izR;sd iz'uklkBh (A), (B), (C) vkf.k (D) v'kh

pkj fodYi mŸkjs fnyh vkgsr- R;krhy ;ksX; mŸkjkpk
jdkuk [kkyh n'kZfoY;kizek.ks Bˇdi.ks dkˇk
djkok-
mnk- A B C D

tj (C) gs ;ksX; mŸkj vlsy rj-
5. ;k iz'uif=dsrhy iz'ukaph mŸkjs mŸkjif=dse/;sp

|kohr- mŸkjkP;k jdkU;ke/;s ( × ) ( ü ) ( / ) o
vLi"Vi.ks dkˇs dsysys mŸkj xzk· /kjys tk.kkj
ukgh-

6. vkr fnysY;k lwpuk dkˇthiwoZd okpkO;kr-
7. dPP;k dkeklkBh iz'uif=dsP;k 'ksoVh dksjs iku

tksMys vkgs-
8. ;k isijph ijh{kk laiY;kuarj iz'uif=dk o

mŸkjif=dk nksUgh i;Zos{kdkauk ijr djkoh- ;krhy
dks.krkgh dkxn rqeP;k cjkscj ijh{kk dsaÊkckgsj
us.;kl lDr eukbZ vkgs-

9. iz'uif=dsoj n'kZfoysyh mŸkjs riklyh tk.kkj
ukghr-
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